FHEmMSFREESR

TfE: HS0
5k BiETE hefE |
1) E#E¥MELH-HS0POKER HEAD ASSEMBLY (036x5M) 12,922
1)  EBHYMELH-HSOPOKER HEAD ASSEMBLY (036x6M) 13.929
2) U452 -H42HANDLE HALF-RIGHT (ORANGE-021C) 186
3)  [i/K#B#-HA2GASKET 37
4)  BT-E-H42(#E)ELECTRONICS UNIT (110V&220V) 7,197
5)  KF5FESEXTERNAL STAR WASHER (M4) 1
6.) | FLEEFIE4PANHEAD MACHINE SCREW (M4x8xP0.7) 1
7.)  FEEEE]FLAT WASHER (04x012x1) 1
8.) | ARUE-TF H B4 TRUSS HEAD TAPPING SCRREW-A (M4x12) 1
9. |#E4F:£ECORD ARMOR 124
10.) | ZBJE4R-VDE(TP-51)(16A)POWER SUPPLY CABLE (VDE-1.5x3Cx0.3M-HO7RNF) 143
10.) | ZBJE4R- HIH207)(15A)POWER SUPPLY CABLE (JP-2.0x3Cx0.3M-JET VCT) 124
10.) | EJE4R-TETERE(P1134)(16A)POWER SUPPLY CABLE (UK-1.5x3Cx0.3M-HO7RNF) 374
11) [BHRAH C43-H42WIRE LEAD 25
1-1.) |ZE#h9ME-HS0POKER HOUSING 1,299
1-10.) [E[E 184%SOCKET CAP SCREW (M3x6xP0.5) 1
1-11.) | EE4RLREEE -H42HOSE 4,950
1-11.) |FE4RPREE -H42HOSE 4,950
1-12.) [##5E-H42HOSE JUNCTION 227
1-13A)E H-V42CV CLAMP (037x040x60) 107
1-13B.) B HHOSE CLAMP 37
12.) AFEFE B84 PANHEAD TAPPING SCREW-B (M4x20) 1
1-2.) #BBEXTERNAL CIRCLIP (S-15) 1
13.)  [FLEE+F EH I IE44PANHEAD TAPPING SCREW-B (M4x12) 1
1-3.) |7EEHE6302BALL BEARING (6302) 231
14.) |EE4REEHRCABLE CLIP 1
1-4.) | F#H-HSO0SPINDLE (037-106.5MM) 743
15.) |FEPEBHRE-H42LIMIT SWITCH (110V&220V) 40
1-5.) BE#4H-HSOMOTOR UNIT 3,548
16.) |BFIRE&4H-V42SWITCH BODY 85
1-6.) |HE#E1%FE-VA2MOTOR END CASTING 330
17.) BAREMEIEE-V42SWITCH BOOT 2
1-7.) |FEB4ps#E-V42CORD ARMOR 10
18.) [ #mF-/- 2 H42HANDLE HALF-LEFT (ORANGE-021C) 202
1-8.) IHZE4%-VA2CLAMPING KNOB 61
19.) IN/AN/A
1-9.) EHE4G-H42WIRE LEADS 732
1-9.) #$745-H42WIRE LEADS 748
20.) |RLEEFEH R4 PANHEND TAPPING SCREW-A (M4x38) 1
21) [REETFE BB PANHEAD TAPPING SCREW-B (M4x30) 1
22.) | EEEEFLAT WASHER (04x016x1) 1
23.) |FE4RhI 175 -H42CABLE SUPPORT STRAP 21
24) RFETFE R4 PANHEAD TAPPING SCREW-B (M4x25) 1
25.) |[F¥2-H42ANTI-INTERFERENCE TOROID 17
26.) DREBSS-EP7FPRCD INTERRUPTER PROTECTION (110V) 557
26.) REBEES#2PRCD INTERRUPTER PROTECTION (220V) 557
27.)  EIE4R- H ($E4ETE)POWER SUPPLY CABLE (NO PLUG-1.5x3Cx14.7M-HO7RNF) 1774
27.) | BE4-fERETEPOWER SUPPLY CABLE (NO PLUG-1.5x3Cx14.7M-HO7RNF) 2,149




